
https://www.passapply.com/600-511.html
2024 Latest passapply 600-511 PDF and VCE dumps Download

 

 

 

600-511Q&As

Designing with Cisco Network Programmability for ACI

Pass Cisco 600-511 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/600-511.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

 

 

600-511 VCE Dumps | 600-511 Practice Test | 600-511 Study Guide                                1 / 3

https://www.passapply.com/600-511.html
https://www.passapply.com/600-511.html
https://www.passapply.com/600-511.html


https://www.passapply.com/600-511.html
2024 Latest passapply 600-511 PDF and VCE dumps Download

QUESTION 1

Which two options are two provisions of ACI for security? (Choose two.) 

A. Security services are provided by the fabric, without the need for external appliances. 

B. ACI depends on external appliances and software to provide security. 

C. ACI provides a stateless whitelist approach for all traffic in the fabric. 

D. ACI allows for easy integration of external stateful physical and virtual security devices into the fabric. 

Correct Answer: CD 

 

QUESTION 2

Which two ACI features assist with application service-level assurance? (Choose two.) 

A. tenant health scores 

B. Layer 4 to Layer 7 service integration 

C. Cisco APIC database sharding 

D. fabric health scores 

E. QoS 

Correct Answer: AD 

 

QUESTION 3

Which overlay protocol does Cisco AVS for vSphere use to allow the ACI fabric to extend over an existing network
infrastructure? 

A. GRE 

B. IPsec 

C. NVGRE 

D. VXLAN 

E. OTV 

Correct Answer: D 

 

QUESTION 4
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Which two benefits are achieved through database sharding within the Cisco APIC cluster? (Choose two.) 

A. active-standby high availability 

B. scalability 

C. compression 

D. reliability 

E. load balancing 

Correct Answer: BD 

 

QUESTION 5

Which three types of interface are supported on border leaf switches to connect to an external router? (Choose three.) 

A. Layer 3 interface 

B. subinterface with 802.1Q tagging 

C. backup interface 

D. switched virtual interface 

E. management interface 

F. point-to-point interface 

Correct Answer: ABD 
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